M
=
M
wn
2
<
m
A
-
m
Py
o)
c
—
<
2
o
-
o
A

Y, ¥

A W aEE=w

'al1'00 'HOVIN 8 0313 VinMN

INVERTER DUTY MOTOR

\V EAZL

TFEF / VFEF

HREHRKE

Inverter Duty Motor,
Iron-casting Frame

» Foot Mounted.

AD
AD L

AC

,_
>
N

- & :
/—H E | 1 ED
SR e e JF AN e L [T e
EO| ruume | = ||—— HD A AKUTA HD A
Y] Gy | = () ==} s N VIS &y - T Q%
i [} U= L £
e I8 1lc OKK AE LE B lc | LN ae AR
] e = Y
DKK/ 4-0K AB
Fig.1 Fig.2
put (HP) AE

1/4 1/4 — - 63 1 100 28 120 144 134 945 80 100 40 63 8 135
1/2 1/2 1/4 = 71 1 112 375 138 162 144 1035 90 119 45 71 11 152
1 1 1/2 1/4 80 1 125 38 155 176 149 1145 100 130 50 80 9 168
2,3 2 1 1/2 90L 1 140 355 170 200 160.5 126 125 150 56 90 10 190
- 3 2 1 1000 2 160 45 196 217 177 135 140 175 63 100 125 2415
5 5 3 2 112 2 190 45 224 238 187 145 140 175 70 112 14 2645
7.5,10 7.5 5 3 1325 2 216 46 254 273 222 179 140 175 89 132 16 310
— 10 7.5 5 132M 2 216 46 254 273 222 179 178 213 89 132 16 310
15,20 15 10 7.5 160M 3 254 75 300 330 253 211 210 256 108 160 18 373
25 20 15 10 160L 3 254 75 300 330 253 211 254 300 108 160 18 373
30 25, 30 20 15 180M 3279 80 355 381 301 243 241 297 121 180 20 417
40 40 25, 30 20 180L 3 279 80 355 381 301 243 279 335 121 180 20 421
50,60 50,60 40,50 25,30 2000 3 318 80 398 421 3315 273.5 305 350 133 200 24 469
- 75 60 40 2255 3 356 945 453  467.5 391.5 316.8 286 354 149 225 30 515
- 100 75 50 2508 4 406 104 501  511.5 474 356 311 425 168 250 37 5735
— 125 100 60 250M 4 406 104 501  511.5 474 356 349 425 168 250 37 5735
— 150 125 75 280S 5 457 110 560 627.5 606 455 368 445 190 280 36 706.5
— 175 150 100 280M 5 457 110 560  627.5 606 455 419 496 190 280 36 7065
- 215 175 125 3155 5 508 115 615  627.5 606 455 406 490 216 315 40 743
- 250,270 215 150 315M 5 508 115 615  627.5 606 455 457 540 216 315 40 743

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28:j6 @38~ #48: k6 @55~ @95: m6
2.Tolerance of Shaft Center Height “H” :+0 ~ — 0.5 280S~315M” H” : +0~ — 1

FUKUTA Http:/ fwww.ytk-group.co.jp


yangyuanfang
スタンプ


TV series | INVERTER DUTY MOTOR
~

~. Inverter Duty Motor

Iron-casting Frame, Foot Mounted.

‘y

-

JOLOW ALNQA J3LAI3ANI SaIJaS

AR HERFENE, RERERBUERRNBES, AQERFSTEN

AD
L | AC
| E
@ n
. L A
oo e + /] I
1 | ? — HD e =131 \Z
S = /. o |
= H DH Tap
it ]H:E |
| np——
LE | B |lc AE AA%
BB A |
. OKK | 4-OK AB
Fig.3
AD
L | _AC L AD
! USABLE SHAFT LENGTH AC
. o E
ED, © Q
- e Tl
Pain)
= - T / & \v
HY
n ]HE HA
ol i1 s t & S
o AE |
LE B C A \A‘AL
BB DKK/ 4-0K AB AB
Fig.4
B3 Dimensions R Shaft
29 7 22 338 195 11 23 18 - 4 8.5 12.5 M4*10 6201727 620127 9
38 7 22 394.5 229.5 14 30 25 = 5 11.0 16.0 M5*12.5 6202727 620277 11
51 10 22 414.5 224.5 19 40 35 - 6 15.5 21.5 M6*16 620477 620327 15
53.5 10 22 465 234 24 50 45 = 8 20.0 27.0 M8*19 6205727 6204727 22
62 12 28 497 234 28 60 55 - 8 24.0 31.0 M10*22 620627 6205727 30
65 12 28 522.5 252.5 28 60 55 - 8 24.0 31.0 M10*22 630627 630577 40
60 12 35 621 312 38 80 75 - 10 33.0 41.0 M12*28 630827 630627 60
60 12 35 659 312 38 80 75 = 10 33.0 41.0 M12*28 630827 630627 70
75 14.5 35 768 340 42 110 105 - 12 37.0 45.0 M16*36 630927 630727 115
75 14.5 35 812 340 42 110 105 - 12 37.0 45.0 M16*36 630927 630727 135
90 14.5 52 802 330 48 110 105 - 14 42.5 51.5 M16*36 631177 631027 170/180
90 14.5 52 840 330 55 110 105 = 16 49.0 59.0 M20*42 631277 631027 210
120.5 18.5 65 937 359 60 140 135 - 18 53.0 64.0 M20*42 631377 621277 280/300
122 18.5 92 985.5 410.5 65 140 135 = 18 58.0 69.0 M20*42 631577C3 621377C3 360
152 24 92 1099.5 480.5 75 140 135 - 20 67.5 T79.5 M20*42 631677C3 631377C3 513
152 24 92 1099.5 442.5 75 140 135 — 20 67.5 79.5 M20*42 63167ZC3 631377C3 552
82 24 — 1489.5 761.5 85 170 140 157 22 76 90 —-— NU320C3 6316 -
82 24 - 1540.5  761.5 85 170 140 157 22 76 90 —— NU320C3 6316 -
117 28 - 1577 782 95 170 140 157 25 86 100 —-— NU320C3 6316 -
117 28 — 1628 782 95 170 140 157 25 86 100 —— NU320C3 6316 -

FUKUTA




	



